Hospital 2 = 1 (Hospital 1 as the reference group)

B =—-0.11, p = 0.04

Hospital 3 =1 (Hospital 1 as the reference group)

p=-0.22,p<0.01

\ 4

Hospital 4 = 1 (Hospital 1 as the reference group)

B=-0.05p=0.19

\ 4

Surgical unit = 1 (Medical units are the

reference group)

p=-0.12,p<0.01

\4

Medical-surgical combined unit = 1 (Medical

B =-0.09, p=0.01

\4

units are the reference group)

Total nursing hours/patient-day

B=0.13,p<0.01

\ 4

Percentage of total nursing hours/patient-day

B =-0.30,p<001

\4

supplied by RNs

Percentage of patients > 65 years old

B=-0.07,p=0.10

\ 4

Average CMI

B =0.06, p=0.08

\ 4

Percentage of patients with altered mental

status/cognitive impairment

B =0.10, p < 0.01

\ 4

Percentage of patients with hearing problems

B=0.01,p=0.80

\4

Call light use rate per patient-day

p=-0.07p=003

\4

Average response time to call lights

B =0.15 p<0.01

\4

\ 4

Dependent
variable:

Total fall rate per
1000 patient-day






